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((z +5) (z —3))'
(x+5)(x—=3)+ (x+5)(z—3)
l-(x—=3)+(x+5)-1
r—3+x+5

2x+2

2) () = (327 +5) (2 — 1)
=@B2*4+5) (2> =1)+ (322 +5) (22 - 1)
=6z (x> —1)+ (32 +5)2x
=62 —62+62°+10x
=122% +4x

3) 1) = (0% - 3) (40— 5))
= (2> —=3) 4z —5)+ (> - 3) 4z —5)
=2z (4dx—5)+ (2% — 3)4
=822 10w+ 42212
=122 — 10z — 12

1) f'(z)

4) f'(z) =((32* — Tx) (42® — b))
= B2 —Tx) (42*—5)+ (32> —Tx) (42> —5)
=(6x—7)(42*—5)+ (322 —Tx)8x
= 2423 — 30w — 28 2% + 35 + 24 23 — 56
=483 — 8422 —30x + 35

5) Montrons la formule

(f-g-h)(2) = f'(z) g(x) h(z) + f(2) g (2) h(x) + f(z) g(x) I (x)

f9) (@) h(z)+ (f - g)(x) W (z)
fl(z) g(x) + f(z) ¢'(x)) h(z) + f(x) g(z) I ()
) + f(x) g'(z) h(z) + f(x) g(x) I (x)

/
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f(2)= (e —7) (B +2) (422 — 3))

=x—-7Bx+2) (42> -3)+(z—7) Bz +2) (42> - 3)
+(x—=T7)(3x+2)(42*—3)

=1B8z+2) (42> =3)+(z—T7)34x*-3)+(x—7)(Bx+2)8x

=Br+2)(42?2-3)+Brx—21)(42>-3)+(z—7) (242> + 16 1)

=122 - 92 +82* — 6+ 122% — 9 — 84 2% + 63 + 24 23 + 16 22
—1682% — 112

=48 23 — 228 22 — 1302 + 57

Analyse : dérivées Corrigé 5.9



6) f(x) = ((22° +32) (3% — 2z +4))
=222 +3z) B3 —x+4)+ (222 +32)(32% —x +4)
=4rx+3)B2—x+4)+ (222 +32) (922 - 1)
=122 422+ 162 +92° — 320+ 12+ 182" — 222 +272% — 32
=302* +362% — 622+ 10z + 12
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